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E &= &7t (Sample space)
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E &= &7t (Sample space)
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A2 (Event)
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A& (Event)
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(Number of cases)
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A2 9| = (Number of cases)
@)

« =Y (Permutation)
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(Probability)& 2|0
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« 718 = E (Conditional Probability)
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(Conditional Probability)
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04 A2t BO| HEO| && &7}

o4 A2 BO|

(@)
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BO4| CH

- P(ANB) = P(A)P(B)

+ P(A|B) = P(A)

- =& At (Independence Event)
« P(B|A) = P(B)
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- 58 HE| (Multiplicative Rule)
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- &l E (Total Probability) 2| ¥4=

+ EE Bt SE nifo| HAUo = LIHS M, so| A 40| &
=2 AlthsteE 85
» 272 B

s PA)=PI(BNAUB NA]=P(BNA)+P(B'NnA)
= P(B)P(A|B) + P(B")P(A|B")
« P(BNA),P(B'nA)E AZ HHit

« = & 0| ME| (Theorem of total probability)
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H|O|= 2|
- 12 E (Total Probability) 2] &

x|
 HI C}O|O{ 1% B ‘ B’
o O K|
« 3CHO| 7|l B 1,3%,33% Zkzh MA| MAHZEO| 30%, 45%, 25%
S YUSE SESBoIM BHE mE 0l 242 2%, 3%,

. P(Bl)P(A ) = (0.3)(0.02) = 0.006
. P(B,)P(A|B,) = (0.45)(0.03) = 0.0135
» P(B3)P(A|B5) = (0.25)(0.02) = 0.005

« P(A) =0.006 + 0.0135 + 0.005 = 0.0245
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2%0|H S ZFO0| B, Ol MEEZURS HE2?
. _ P(B3)P(A | B3)
P(BB |A) B P(B1)P(64O|OBS1)+P(32)P(AO|03025)+P(313O)P(A | B3)
* P(B;3ld) = 0.006+0.0135+0.005 _ 0.0245 _ 49
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